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1.His ------------——-- pleased us all.

-- Maiden speech
2. You'll fail in the exam, if you --- from school.

--- play Truant

3. The antonym of the word 'flexible ' is
-- hard

4. . The antonym of the word 'adverse' is
- favourable

5.The Synonym of the 'cordial' is
--amiable

6. .The Synonym of the 'Witty' is
-clever

7.He speaks as if he ------—-—-- amad.
--were

8.The man was ---------- for murder .

- hanged

9. A ----mn-- in time saves nine .

-- Stitch

10. Let the sentence be ( pen) through .
- Penned

11. They arrived here after you

--had left.

12. If you wanted , | (help) you.

- would help

13. Without working hard you can't shine in life. (Make it complex sentence)
- If you do not work hard, you cannot shine in life.

14. Every mother loves her child ( negative)

- There is no mother but loves her child

15, The Padma is one of the biggest rivers in Bangladesh.( Positive)
-- Very few rivers in Bangladesh are as big as the padma.

16. Noun form of the word 'Long' is

-- length

17. Verb form of the word ' Danger' is

- Endanger’

18. The adverb form is 'Heart' is

-- heartily



19. (57 SE S SR |

-- He is my brother

20. I (SN 18T

- | Shall Feed you

21.Though he is poor , ---

he is honest

22. Hardly had we reached

-- when the bell rang

23. Tawfig went to library wit a view to
-- reading a book

8. SIFTE R Fe TR |

-I have no pen to write
25, -—-- He is coming today .
--ten to one
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